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á«ÁOÉcCG äÉ«°VÉjQ

Test Instructions

Check that this question booklet has your 
correct details printed on it (eSIS number, 
name, date of birth, school name, class). 
If not, write the correct information neatly  
in the spaces provided.
You are allowed 85 minutes for this test.
You must not use a calculator.

There are two types of question:

Type 1: Multiple choice (30 questions)
Each question has four possible answers.  
Only one is correct.
Use only a pencil to shade in the  
answer bubble of your choice.
If you make a mistake then rub out  
your answer completely and shade  
in the bubble of your new answer.

Type 2: Open response (10 questions)
Write your answers in the spaces provided 
within the test booklet.
Do not write outside the answer spaces.

QÉÑàN’G äÉª«∏©J
 äÉeƒ∏©ŸG øª°†àj Gòg á∏Ä°SC’G Öq«àc q¿CG øe ócCÉàdG AÉLôdG

 ïjQÉJ ,º°S’G ,eSIS ò«ª∏àdG ∞jô©J ºbQ) ∂H á≤∏©àŸG áë«ë°üdG
 ÖàcÉa ,∂dòc øμj ⁄ ¿EG .(∞°üdG ,á°SQóŸG º°SG ,IO’ƒdG
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.(°F)  âjÉ¡fô¡a ¤EG (°C) ájƒÄŸG øe IQGô◊G äÉLQO πjƒëàd ÊÉ«H π«ã“ »∏j Éª«a  1  

?áë«ë°U â°ù«d äÓjƒëàdG √òg øe …CG

20°C = 68°F  

20°F = –7°C  

10°C = –12°F  

60°F = 16°C  

 2  

?  ájhGõdG ¢SÉ«b OÉéjE’ QÉàîJ GPÉe

tan  = 64   tan  = 46   sin  = 64   sin  = 46  

?πμ°ûdG Gòg áMÉ°ùe »g Ée  3  

914 m2   757 m2   600 m2   443 m2  

ºC

0
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á≤«bO ÒZ ¢ù«jÉ≤ŸG
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20 m

á≤«bO ÒZ ¢ù«jÉ≤ŸG
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 1 This is a graph to convert degrees Celsius (°C) to degrees Fahrenheit (°F).

Which of the following conversions is wrong?

 20°C = 68°F

 20°F = –7°C

 10°C = –12°F

 60°F = 16°C

 2 

Which would you use to find the size of angle ?

 sin 4
6  sin 6

4  tan 4
6  tan 6

4

 3 What is the area of this shape?

 443 m2  600 m2  757 m2  914 m2

ºC

0
0

−10−20−30 10

20

20

40

−40

−20

30 40 50 60 70 80 90 100 ºF

6 cm

4 cm

Not to scale

30 m

20 m

Not to scale

7111-03



á«≤«Ñ£J äÉ«°VÉjQ – öûY …OÉ◊G ∞°üdG

4

Aõ÷
G Gò

g ‘
 Ö

àμJ
 ’

?‹ÉàdG å∏ãŸG ‘ cos  áª«b »g Ée  4  

12
5   12

13   513   512  

.¢†©ÑdG É¡°†©H ¥ƒa áØ∏àfl Öàc á°ùªN áª∏©e â©°Vh  5  

?¢†©ÑdG É¡°†©H ¥ƒa ÖàμdG Ö«JôJ É¡dÓN øe øμÁ »àdG ¥ô£dG OóY ƒg Ée

120   25   5   1  

 ábQh 100 πμd kÉªgQO 20 ¥GQhCG ™ÑW áØ∏c ≠∏ÑJ  6  

.kÉªgQO 60 ≠∏ÑJ áàHÉK á«∏«¨°ûJ ∞jQÉ°üe ¤EG áaÉ°VE’ÉH

.¥GQhC’G OóY πqãªàa x ÉeCG áØ∏μdG ‹ÉªLEG C πqã“ 

.√ÉfOCG QhÉëŸG ≈∏Y äÉeƒ∏©ŸG √ò¡d ÊÉ«ÑdG π«ãªàdG º°SQG

á≤«bO ÒZ ¢ù«jÉ≤ŸG
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 4 What is the value of cos  in the following triangle?.

 5
12  5

13  12
13  12

5

 5 A teacher puts five different books in a pile.

In how many different ways can this pile be arranged?

 1  5  25  120

 6 The cost to print leaflets is Dhs 20 for every 100 leaflets and a fixed charge of Dhs 60.

C stands for the total cost and x for the number of leaflets. 

Draw the graph for this information on the axes below.

5

12

13
Not to scale

0
0

20

40

60

80

100

120

140

160

180

200

220

240

260

280

300

100 200 300 400 500 600 700 800 900 1000

C

x

7111-05



á«≤«Ñ£J äÉ«°VÉjQ – öûY …OÉ◊G ∞°üdG

6

Aõ÷
G Gò

g ‘
 Ö

àμJ
 ’

.⁄É©dG øe áØ∏àfl ≥WÉæe øe ™HGƒW áà°S IRƒe iód  7  

.É¡à≤«≤°ûd Éª¡à£YCGh kÉ«FGƒ°ûY ÚæKG äQÉàNG

?ÚæKG Ú©HÉW øe É¡∏«μ°ûJ ™«£à°ùJ »àdG áØ∏àîŸG äÉYƒªéŸG OóY Ée

12  

15  

30  

36  

cos  = 35  8  

? sin  áª«b »g Ée

3
5  

4
5  

4
3  

3
4  

.¬à°SQóe øe 300 m áaÉ°ùe øe π°ü«a ≥∏£fG  9  

 ¢†cQ ºK QGóà°SGh IóMGh á≤«bO IóŸ π°ü«a ∞qbƒJ ºK .Úà≤«bO IóŸ á≤«bO/Îe 100 áYöùH á°SQóŸG √ÉŒÉH ≈°ûe

.IóMGh á≤«bO ‘ ¬bÓ£fG á£≤f ¤EG

.π°ü«a É¡©£b »àdG á°SQóŸG øe áaÉ°ùŸÉH ¢UÉÿG áaÉ°ùŸG/øeõ∏d ÊÉ«ÑdG π«ãªàdG º°SQG

á≤«bO ÒZ ¢ù«jÉ≤ŸG
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 7 Mouza has six different stamps of the world.

She selects two stamps at random to give to her sister.

How many different selections of two can she make?

 12

 15

 30

 36

 8 cos  = 35

What is the value of sin ?

 3
5

 4
5

 4
3

 3
4

 9 Faisel starts at a distance of 300 m from his school.

He walks towards the school at a speed of 100 metres/minute for 2 minutes. 

Faisel then stands still for 1 minute, turns around and runs back to his starting point in 1 minute.

Draw the time-distance graph for Faisel’s distance from school.

Not to scale

0
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400

1 2 3 4 5
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school
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:âfÎfG äÉeóN Ohõe ÉgOóM »àdG Iójó÷G ájô¡°ûdG Ωƒ°SôdG »∏j Éª«a  10  

1 GB øe πbCG ΩGóîà°SG ∫ÉM ‘ kÉªgQO 20

3 GB øe πbCG øμdh ,ÌcCG hCG 1 GB ΩGóîà°SG ∫ÉM ‘ kÉªgQO 30

10 GB øe πbCG øμdh ÌcCG hCG 3 GB ΩGóîà°SG ∫ÉM ‘ kÉªgQO 50

.ÌcCG hCG 10 GB ΩGóîà°SG ∫ÉM ‘ ºgQO 100

.äÉeƒ∏©ŸG √òg qÚÑj …òdG ÊÉ«ÑdG π«ãªàdG á«dÉàdG QhÉëŸG ≈∏Y º°SQG

?‹ÉàdG ºFÉ≤dG å∏ãŸG ‘ h áª«b »g Ée  11  

100   14   10   √28  
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á≤«bO ÒZ ¢ù«jÉ≤ŸG
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 10 A new mobile broadband provider’s monthly charges are:

On the axes below, draw a graph to show this information.

 11 What is the value of h in the following right-angled triangle?

 √28  10  14  100
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Not to scale
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.á«°VÉjôdG äGAÉ≤∏dG óMCG øª°V Îe 400h Îe 200h Îe 100 ̀ dG äÉbÉÑ°S ‘ óªM ∑QÉ°ûj  12  

.‹GƒàdG ≈∏Y 1
4 h 1

3 ,1
2 âfÉμa áKÓãdG äÉbÉÑ°ùdÉH √Rƒa ¢UôØd kGôjó≤J ™°Vh óbh

?§Ñ°†dÉH ÚbÉÑ°ùH √Rƒa ∫ÉªàMG Ée

1
4  

7
24  

3
4  

1  

.óª◊ óMGh ¿Éμe ¢ü«°üîJ ”h .¢UÉî°TCG Iöû©d äGQÉ«°S ∞bGƒe IöûY ¢ü«°üîJ ”  13  

?Úª«dG ≈∏Y …òdG ∞bƒŸG ≈∏Y óªM ∫ƒ°üM ∫ÉªàMG ƒg Ée

9
10   12   110   9

10!  

 .’ hCG kÉªFÉb ‹ÉàdG å∏ãŸG ¿Éc GPEG OqóM  14  

.π◊G äGƒ£N í q°Vh

15 cm

12 cm
9 cm

≥«bO ÒZ º°SôdG
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 12 Hamad is to run in the 100 metre, 200 metre and 400 metre races at the athletics meeting.

He estimates his chances of winning are 1
2, 1

3 and 1
4 respectively.

What is the probability that he wins exactly 2 races?

 1
4

 7
24

 3
4

 1

 13 Ten people are allocated ten car parking spaces. Hamad is allocated one space.

What is the probability Hamad will be allocated the space on the right?

 9
10!  1

10  1
2  9

10

 14 Determine whether or not the following triangle is right-angled.

Show your method.

15 cm

12 cm
9 cm

Not drawn accurately
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.»μjôeC’G Q’hódGh ºgQódG ÚH πjƒëà∏d ‹ÉàdG äÓª©dG πjƒ– §£fl ΩGóîà°SG øμÁ  15  

?πjƒëàdG ó©H ≠∏ÑŸG ¿ƒμj ºμa ,§£îŸG Gòg kÉeóîà°ùe ºgQódÉH ¬jhÉ°ùJ ÉŸ kGQ’hO 50 âd qƒM GPEG

 ºgQO 184.00   ºgQO 117.00   ºgQO 92.00   ºgQO 13.50  

.kÉ©e AÉjõ«ØdGh äÉ«°VÉjôdG 40h AÉjõ«ØdG 50h äÉ«°VÉjôdG º¡æe 60 ¢SQój ,ò«ª∏J 100 º°†J áYƒª› Éæjód  16  

.áYƒªéŸG øe kÉ«FGƒ°ûY ÖdÉW ÒàNG

?AÉjõ«ØdG ’h äÉ«°VÉjôdG ¢SQój ’ ÖdÉ£dG Gòg ¿ƒμj ¿CG ∫ÉªàMG Ée

0.3  

0.6  

0.7  

0.88  

?‹ÉàdG ºFÉ≤dG å∏ãŸG ‘ x ∫ƒW ƒg Ée  17  

8.39 cm   7.66 cm   6.43 cm   4 cm  

0
0 10 20 30 40 50 60 70 80 90 100

5

10

15

20

25

:‹ÉàdG ¤EG êÉà– ób

cos 40° = 0.766 

sin 40° = 0.643 

tan 40° = 0.839

x

40˚

10 cmá≤«bO ÒZ ¢ù«jÉ≤ŸG
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 15 This currency conversion graph can be used to convert between Dirhams (Dhs) and U.S. dollars ($)

If you convert $50 to Dhs using this graph, what is the result?

 Dhs 13.50  Dhs 92.00  Dhs 117.00  Dhs 184.00

 16 In a group of 100 students, 60 study mathematics, 50 study physics and 40 study both mathematics 

and physics.

One student is selected at random from the group.

What is the probability that this student studies neither mathematics nor physics?

 0.3

 0.6

 0.7

 0.88

 17 What is the length x in the following right-angled triangle?

 4 cm  6.43 cm  7.66 cm  8.39 cm

$

Dhs

0
0 10 20 30 40 50 60 70 80 90 100

5

10

15

20

25

x

40˚

10 cm Not to scale

You may need one of the following:

cos 40° = 0.766

sin 40° = 0.643

tan 40° = 0.839

7111-13
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:áëF’ ‘ AÉª°SCG á©HQCG øjhóàd ¥ô o£dG ióMEG »∏j Éª«a  18  

á°ûFÉY 

¿ÉÁEG 

IQÉ°S 

AÉah

?áëF’ ‘ AÉª°SCG á©HQCG êGQOEG É¡dÓN øe ∂æμÁ …ôNCG  á≤jôW ºc  (a

 
 = ¥ô£dG OóY

?kÉq«FGƒ°ûY ÉgQÉ«àNG ” áëF’ ∫hCG ‘ áLQóe ¿ÉÁEG ¿ƒμJ ¿CG ∫ÉªàMG ƒg Ée  (b

 

.±ôëæe ¬Ñ°T »∏j Éª«a  19  

?∞ëæŸG ¬Ñ°T §«fi ƒg Ée

19 cm  

23 cm  

24 cm  

26 cm  

á≤«bO ÒZ ¢ù«jÉ≤ŸG

4 cm

6 cm

9 cm

7111-14
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 18  Here is one way of lisiting four names:

Aysha 

Eman 

Sara 

Wafa

a) In how many ways can you list four names?

Number of ways = 
 

b) What is the probability Eman is listed first in a randomly-chosen list?

 

 19 This is a trapezium.

What is the length of its perimeter?

 19 cm

 23 cm

 24 cm

 26 cm

4 cm

6 cm

9 cm

Not to scale
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 20  

.kÉeÉ“ »æëæŸG áfGƒ£°SC’G í£°S áMÉ°ùe ∞«∏¨J ábQh »£¨J

5 cm ≠∏Ñ«a Égô£b ∞°üf ÉeCG 4 cm áfGƒ£°SC’G ´ÉØJQG ≠∏Ñj

?ábQƒdG áMÉ°ùe ≠∏ÑJ ºc 

 = 3.14 Ωóîà°SG

314 cm2   125.6 cm2   100 cm2   62.8 cm2  

.D hCG C hCG B hCG A ÉeEG ¿ƒμJ áHÉLEG ∫GDƒ°S πμd ,ÚdGDƒ°S øe QÉÑàNG ‘  21  

?QÉÑàN’G Gò¡d áæμ‡ áØ∏àfl áHÉLEG ºc

16   12   8   4  

.ôjó°üb Ö∏Y á©HQC’ ( B ) Üôb áaÉ°ùŸGh ( A ) ôjó°ü≤dG áÑ∏Y ÈY ¢Vô©dG ¢SÉ«≤H ò«ª∏J ΩÉb  22  

?§ÿG ádGO »g Ée

B = 5A   B = 4A   B = 3A   B = 2A  

4 cm

5 cm

( 2, 6 )

( 4, 12 )

( 5, 15 )

( 6, 18 )
B

A

7111-16
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 20 

A paper wrapper fits exactly around the curved surface of a cylinder.

The height of the cylinder is 4 cm and its radius is 5 cm.

What is the area of the paper? 

Use  = 3.14

 62.8 cm2  100 cm2  125.6 cm2  314 cm2

 21 In a test of two questions, each question has an answer that is A, B, C or D.

How many different possible answers are there for this test?

 4  8  12  16

 22 A student measures the width across ( A ) and the distance round ( B ) four tin cans.

The measurements are plotted on the graph below and a line is drawn through the points.

What is the equation of the line?

 B = 2A  B = 3A  B = 4A  B = 5A

4 cm

5 cm

( 2, 6 )

( 4, 12 )

( 5, 15 )

( 6, 18 )
B

A

7111-17



á«≤«Ñ£J äÉ«°VÉjQ – öûY …OÉ◊G ∞°üdG

18

Aõ÷
G Gò

g ‘
 Ö

àμJ
 ’

17° …hÉ°ùJ Iôé°T ´ÉØJQG ájhGR  23  

20 m Iôé°ûdG ¤EG áaÉ°ùŸG ≠∏ÑJ

?IóMGh ájöûY áfÉÿ Öjô≤àdG ™e Iôé°ûdG ´ÉØJQG ≠∏Ñj ºc

:»∏j É‡ IóMGh áª«≤d êÉà– ób

tan 17° = 0.306 , cos 17°= 0.956 , sin 17° = 0.292

5.8 m  

6.1 m  

19.1 m  

68.0 m  

.D h  C h  B h  A »g •ƒ£N á©HQCG ‹ÉàdG ÊÉ«ÑdG º°SôdG ‘  24  

? y = 12 x – 2 ádOÉ©ŸG πqãÁ §N …CG

A §ÿG  

B §ÿG  

C §ÿG  

D §ÿG  

17˚

20 m

á≤«bO ÒZ ¢ù«jÉ≤ŸG

0

–2

–4

2

4

0 42 x

y

–4 –2

A B

CD
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 23 The angle of elevation of a tree is 17°.

The distance to the tree is 20 m.

What is the height of the tree to 1 decimal place?

You may need one of the following:

sin 17° = 0.292, cos 17°= 0.956, tan 17° = 0.306

 5.8 m

 6.1 m

 19.1 m

 68.0 m

 24 On the following diagram are four lines, labelled A, B, C and D.

Which line has equation y = 12 x – 2?

 Line A

 Line B

 Line C

 Line D

17˚

20 m

Not to scale

0

–2

–4

2

4

0 42 x

y

–4 –2

A B

CD
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10 cm ‹ÉàdG §£îŸG ‘ Ö©μŸG ÖfGƒL ∫ƒW ≠∏Ñj  25  

1 cm áfGƒ£°SC’G √òg ô£b ∞°üf ∫ƒW ≠∏Ñjh Ö©μŸG øe áfGƒ£°SCG πμ°T ≈∏Y AõL  ™£b ”

?»≤ÑàŸG ºé◊G ƒg Ée

 = 3.14 Ωóîà°SG

1314 cm3   1031.4 cm3   968.6 cm3   683 cm3  

?‹ÉàdG ¢übÉædG ™£≤dG áMÉ°ùe »g Ée  26  

15  cm2  

16  cm2  

60 cm2  

60  cm  

tan 27° = 0.51    cos 27° = 0.89     sin 27° = 0.45  27  

?√ÉfOCG å∏ãŸG ‘ x áª«b »g Ée

4.5  

5.1  

6  

8.9  

á≤«bO ÒZ ¢ù«jÉ≤ŸG

10 cm

1 cm

:áfGƒ£°S’G ºéM
V =  r2

 h

.…Oƒª©dG ´ÉØJQ’G »g h å«M

á≤«bO ÒZ ¢ù«jÉ≤ŸG

10 cm

6 cm

27°

10
x

á≤«bO ÒZ ¢ù«jÉ≤ŸG
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 25 The cube in the diagram has edges of length 10 cm.

It has a cylinder of radius 1 cm cut out of it.

What volume remains?

Use  = 3.14

 683 cm3  968.6 cm3  1031.4 cm3  1314 cm3

 26 What is the area of this ellipse?

 15  cm2

 16  cm2

 60 cm2

 60  cm2

 27 sin 27° = 0.45    cos 27° = 0.89     tan 27° = 0.51

What is the value of x in the triangle below?

 4.5

 5.1

 6

 8.9

10 cm

1 cm

Not to scale Volume of cylinder:

V =  r2 h

where h is the perpendicular height.

10 cm

6 cmNot to scale

27°

10
x

Not drawn accurately
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.ô¶æj ¿CG ¿hO  áKÓãdG ¢SÉ«cC’G øe m¢ù«c uπc øe á«fó©e á©£b ÖYÓdG òNCÉj ¿CG áÑ©d »°†≤J  28  

.AGôªM â°ù«d á«fó©e á©£b º¡æe óMGh Öë°ùj ÉeóæY ¿ƒÑYÓdG ∞bƒàj

.áKÓãdG ¢SÉ«cC’G iƒàfi ∫hó÷G qÚÑj

.áæ«©dG AÉ°†a qÚÑàd ä’ÉªàMG Iôé°T º°SQG

cos 60° áª«b OÉéjE’ ‹ÉàdG §£îŸG Ωóîà°SG  29  

?í«ë°U »∏j É‡ …CG

1
2  

1
2 √3  

1  

2  

¢ù«μdGiƒàëŸG
∫hC’GAÉbQR á«fó©e ™£b 5 h AGôªM á«fó©e ™£b 3

ÊÉãdGAGö†N á«fó©e ™£b 3 h AGôªM á«fó©e ™£b 4

ådÉãdGAGôØ°U á«fó©e á©£b 2 h AGôªM á«fó©e á©£b 1

5 cm

10 cm 10 cm

5 cm

60˚

á≤«bO ÒZ ¢ù«jÉ≤ŸG
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 28 In a game, a player takes one counter from each of three bags without looking.

They stop as soon as they get a counter that is not red.

The table shows the contents of the bags.

Draw a tree diagram to show the sample space.

 29 Use the following diagram to find the value of cos 60°

Which one of the following is correct?

 1
2

 1
2 √3

 1

 2

Bag Contents

1st 3 red counters and 5 blue counters

2nd 4 red counters and 3 green counters

3rd 1 red counter and 2 yellow counters

5 cm

10 cm 10 cm

5 cm

60˚

Not to scale
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.ºgQódGh »cÒeC’G Q’hódG ÚH ±öüdG ô©°S ‹ÉàdG §£îŸG qÚÑj  30  

?áë«ë°üdG »g IQÉÑY …CG

.kÉÑjô≤J »cÒeCG Q’hO 100 …hÉ°ùJ ºgQO 375  

.kÉÑjô≤J kÉ«cÒeCG kGQ’hO 75 …hÉ°ùJ kÉªgQO 20  

.»cÒeCG Q’hO 3.75 = ºgQO 1 :ƒg ±öüdG ô©°S  

.kÉªgQO 50 øe πbCG …hÉ°ùJ kÉ«cÒeCG kGQ’hO 50  

.‹ÉàdG §£îŸG ‘ IôFGódG ™HQ áMÉ°ùe óLhCG  31  

 = 3.14 Ωóîà°SG

m2 
 = áMÉ°ùŸG

0
0

50

100

150

200

100 200 300 400 500 600 700 800

6 m

6 m

á≤«bO ÒZ ¢ù«jÉ≤ŸG
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 30 The diagram below shows the exchange rate between US Dollars and Dirhams (Dhs).

Which of the following statements is correct?

 Dhs 375 is approximately US $ 100

 Dhs 20 is approximately US $ 75

 The exchange rate is Dhs 1 = US $ 3.75

 US $ 50 is worth less than Dhs 50

 31 Find the area of the quadrant in the following diagram.

Use  = 3.14

Area = 
m2 

0
0

50

100

150

200

100 200 300 400 500 600 700 800

US ($)

Dhs

6 m

6 m

Not to scale
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?‹ÉàdG §£îŸG ‘ á∏∏¶ŸG á≤∏◊G áMÉ°ùe »g Ée  32  

16  

18  

80  

99  

?áë«ë°U »g »∏j Éq‡ IQÉÑY q…CG ,BCA ås∏ãŸG ‘  33  

tan   8
15  

sin   15
17  

cos   17
15  

tan   15
8  

.IôFGO ∞°üfh π«£à°ùe øe √ÉfOCG º°SôdG ∞qdCÉàj  34  

10 m IôFGódG ô£b ∞°üf ∫ƒW ≠∏Ñj 

12 m ¬°VôY ≠∏Ñjh 20 m π«£à°ùŸG ∫ƒW ≠∏Ñj

 = 3.14 ?¬∏eÉμH º°SôdG áMÉ°ùe »g Ée

271.4 m2  

397 m2  

440 m2  

554 m2  

 ?AC ∫ƒW ƒg Ée  35  

4 cm  

√40 cm  

√48 cm  

10 cm  

á≤«bO ÒZ ¢ù«jÉ≤ŸG
10 cm

1 cm

A

C

B 15 cm

17 cm

á≤«bO ÒZ ¢ù«jÉ≤ŸG

10 m

12 m

20 m

á≤«bO ÒZ ¢ù«jÉ≤ŸG

7 cm

3 cm

A B

C

á≤«bO ÒZ ¢ù«jÉ≤ŸG
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 32 What is the area of the shaded annulus in the diagram?

 16

 18

 80

 99

 33 In the triangle BCA, which expression is true?

 tan  8
15

 sin  15
17

 cos  17
15

 tan  15
8

 34 The figure below consists of a semicircle and a rectangle.

The radius of the semicircle is 10 m. 

The length of the rectangle is 20 m, and its width is 12 m.

What is the area of the whole figure?  = 3.14

 271.4 m2

 397 m2

 440 m2

 554 m2

 35 What is the length of AC?

 4 cm

 √40 cm

 √48 cm

 10 cm

10 cm

1 cm

Not to scale

A

C

B 15 cm

17 cm

Not to scale

10 m

12 m

20 m

Not to scale

7 cm

3 cm

A B

C

Not to scale
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 36  

tan A = 5
11 √ÓYCG πμ°ûdG ‘

? sin B áª«b »g Ée

12
13   11

12   512   513  

45° ≠∏ÑJ N á£≤ædG øe Oƒª©dG ¢SCGQ ´ÉØJQG ájhGR q¿EGs  37  

10 m ≠∏ÑJ N á£≤ædGh Oƒª©dG ÚH áaÉ°ùŸG 

20 m ≠∏ÑJ M á£≤ædGh Oƒª©dG ÚH áaÉ°ùŸG

.M á£≤ædG øe Oƒª©dG ¢SCGQ ´ÉØJQG ájhGR Ö°ùMG

.π◊G äGƒ£N í q°VƒJ ¿CG Öéj

:á«dÉàdG äGQÉÑ©dG øe IóMGh ¤EG êÉà– ób

° 
 = M øe ´ÉØJQ’G ájhGR

A B

11 cm 12 cm

13 cm
á≤«bO ÒZ ¢ù«jÉ≤ŸG

M

20 m 10 m

N45˚

sin 30° = 0.5cos 60° = 0.5tan 26.6° = 0.5

sin 45° = 0.707cos 45° = 0.707tan 35.3° = 0.707

sin 90° = 1cos 90° = 0tan 45° = 1
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 36 

In the diagram tan A = 5
11 

What is the value of sin B?

 5
13  5

12  11
12  12

13

 37 The angle of elevation of the top of a post from N is 45°

The distance from N to the post is 10 m. 

The distance from M to the post is 20 m.

Calculate the angle of elevation of the top of the post from M.

You must show your working.

You may need one of the following:

Angle of elevation from M = 
° 

A B

11 cm 12 cm

13 cm
Not to scale

Post

M

20 m 10 m

N45˚

sin 30° = 0.5 cos 60° = 0.5 tan 26.6° = 0.5

sin 45° = 0.707 cos 45° = 0.707 tan 35.3° = 0.707

sin 90° = 1 cos 90° = 0 tan 45° = 1
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2 = IôFGódG áMÉ°ùe  38  

2  = IôFGódG §«fi

?á«dÉàdG áfGƒ£°S’G í£°S áMÉ°ùe »g Ée

9 m2  

8 m2  

6 m2  

3 m2  

 ‘ äÉMÉØàdG √òg πμH IRƒe ßØà– .AGôØ°U É¡æe äÉMÉØJ 3 h AGôªM É¡æe äÉMÉØJ 5 ,äÉMÉØJ 8 IRƒe iód  39  

.É¡à∏cCG ºK É¡fƒd âfhOh ¢ù«μdG øe kÉq«FGƒ°ûY áMÉØJ âÑë°S .¢ù«c 
 .É¡à∏cCG ºK É¡fƒd âf qhOh ¢ù«μdG øe kÉq«FGƒ°ûY iôNCG áMÉØJ IRƒe  äòNCG

?øjhGôØ°U ¿ÉàMÉØàdG ¿ƒμJ ¿CG ∫ÉªàMG ƒg Ée

5
8   37

56   332   328  

.Iôc ∞°üfh áfGƒ£°SCG øe Öcôe âª°üe ºq°ù› ∞dCÉàj  40  

.5 cm É¡YÉØJQG ≠∏Ñjh 3 cm áfGƒ£°SC’G ô£b ∞°üf  ≠∏Ñj 

3 cm ≠∏Ñ«a IôμdG ∞°üf ô£b ∞°üf ÉeCG

.  ΩGóîà°SÉH ∂àHÉLEG p§YCG ;É¡∏eÉμH áMÉ°ùŸG Ö°ùMG

cm2 
 = áMÉ°ùŸG

3m3m

1m

á≤«bO ÒZ º°SôdG ‘ äÉ°SÉ«≤dG

4 2 = Iôc áMÉ°ùe

2 2 + 2  = áfGƒ£°SCG áMÉ°ùe

3 cm

5 cm

3 cm
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 38 Area of a circle = 2

Circumference of a circle = 2

What is the surface area of this solid cylinder?

 9 m2

 8 m2

 6 m2

 3 m2

 39 Mouza has 8 apples, 5 are red and 3 are yellow. She keeps all these apples in a bag. 

She takes one apple at random, notes its colour and eats it. 

Wafa takes another apple at random from the bag, notes its colour and eats it.

What is the probability that the two apples will both be yellow?

 3
28  3

32  37
56  5

8

 40 A composite solid is made from a cylinder and a hemisphere.

The radius of the cylinder is 3 cm and its height is 5 cm. 

The hemisphere has radius 3 cm. 

Calculate the total surface area; give your answer in terms of .

Total surface area = 
cm2 

3m3m

1m

Not to scale

3 cm

5 cm

3 cm

Surface area of a sphere = 4 2

Surface area of a cylinder = 2 2 + 2
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